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Question No.1 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) Mint leaf or pudina is a / (B) soothing herb that provides relief in case / (C) of
indigestion and stomach upsets. / (D) No Error

 (A) A 
(B) C 
(C) B (Chosen option) 

 (D) D (Correct Answer)
 

Question No.2 Marks: 1.00
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Fill in the blanks with suitable Article from the given alternatives.
 

The Hyundai Motor Company is ________ South Korean multinational automotive
manufacturer headquartered in Seoul, South Korea.

 (A) a (Correct Answer)
 (B) the (Chosen option) 
 (C) No article 

(D) an 

Question No.3 Marks: 1.00
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Choose the best preposition from the given alternatives for the blank in the given
question

 
Coach asked the boxers to reach the place __________ time.

 (A) during 
(B) below 
(C) on (Correct Answer) (Chosen option) 

 (D) at 

Question No.4 Marks: 1.00
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Choose the correct article to complete the following sentence.
 

They are ready to receive ___________ maths question paper for the annual exam.
 (A) a 

(B) No article (Chosen option) 
 (C) the (Correct Answer)
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(D) an 

Question No.5 Marks: 1.00
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Find the word which is correctly spelt from the given options.
 (A) Consequence (Correct Answer) (Chosen option) 

 (B) Prominance 
(C) Explaination 
(D) Catagory 

Question No.6 Marks: 1.00
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In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) I go to the sleep / (B) at nine / (C) every night. / (D) No Error

 (A) D 
(B) C 
(C) A (Correct Answer) (Chosen option) 

 (D) B 

Question No.7 Marks: 1.00
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Fill in the blank with suitable word from the given options.
 

The lawyer ____________ his case to the judge, but the magistrate never agreed with
his opinion.

 (A) cleaned 
(B) argued (Correct Answer) (Chosen option) 

 (C) dropped 
(D) walked 

Question No.8 Marks: 1.00
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Fill in the blank with suitable tense.
 

I __________ farming for living. What do you do?
 (A) had done 

(B) have do 
(C) do (Correct Answer) (Chosen option) 

 (D) does 

Question No.9 Marks: 1.00
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Fill in the blank with suitable tense.
 

They _____________ returned my bag.
 (A) has not 

(B) have not (Correct Answer) (Chosen option) 
 (C) is not 

(D) are not 
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Question No.10 Marks: 1.00
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A funeral procession

 (A) Cache 
(B) Cortege (Correct Answer)

 (C) Congregation (Chosen option) 
 (D) Hamlet 

Question No.11 Marks: 1.00
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Choose the best preposition from the given alternatives for the blank in the given
question

 
They are walking ____________ the forest.

 (A) for 
(B) against 
(C) through (Correct Answer) (Chosen option) 

 (D) before 

Question No.12 Marks: 1.00
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Fill in the blanks with suitable Article from the given alternatives.
 

The patient asked _________ Doctor to change the reports.
 (A) an 

(B) the (Correct Answer) (Chosen option) 
 (C) a 

(D) No article 

Question No.13 Marks: 1.00
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Choose the word which best expresses the similar meaning of the given word "
COMBATIVE ".

 (A) Agreeable 
(B) Kind 
(C) Belligerent (Correct Answer)

 (D) Swell 

Question No.14 Marks: 1.00
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A closed political meeting

 (A) Caucus (Correct Answer) (Chosen option) 
 (B) Torrent 

(C) Horde 
(D) Constellation 

Question No.15 Marks: 1.00
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Bookmark     
Choose the word which expresses nearly the opposite meaning of the given word "
WRANGLE ".

 (A) Dispute 
(B) Calm (Correct Answer) (Chosen option) 

 (C) Hassle 
(D) Contest 

Question No.16 Marks: 1.00
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Fill in the blank with suitable word from the given options.
 

The television show was _____________, and production shut down after the number of
viewers dropped.

 (A) floated 
(B) cancelled (Correct Answer) (Chosen option) 

 (C) surveyed 
(D) simplified 

Question No.17 Marks: 1.00
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A small growth of trees without underbrush

 (A) Grove (Correct Answer) (Chosen option) 
 (B) Bouquet 

(C) Herd 
(D) Posse 

Question No.18 Marks: 1.00
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
The US Federal Reserve recently signalled a major shift in its approach to managing
inflation in a bid to aid the country’s economy’s recovery.

 (A) an major shift in its approach to managing inflation in a 
(B) a major shift on its approach to managing inflation in an 
(C) an major shift in its approach to managing inflation in an 
(D) The given sentence is correct (Correct Answer) (Chosen option) 

 

Question No.19 Marks: 1.00
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Fill in the correct prepositions.
 

We had no idea about the accused lived ____________ us.
 (A) at 

(B) on 
(C) among (Correct Answer) (Chosen option) 

 (D) in 
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Question No.20 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
Very few clubs around a world may have afford the Argentinian superstar.

 (A) club on the world could 
(B) clubs around the world could (Correct Answer) (Chosen option) 

 (C) clubs around the world must 
(D) The given sentence is correct 

Question No.21 Marks: 1.00
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Choose the word which best expresses the similar meaning of the given word "
ADVENTITIOUS ".

 (A) Calculated 
(B) Unplanned (Correct Answer) (Chosen option) 

 (C) Intentional 
(D) Designed 

Question No.22 Marks: 1.00
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
The minister were ready to speaking with the people affected by the disaster left by
the hurricane.

 (A) was ready to spoke with the people affected by (Chosen option) 
 (B) was ready for speak with the people affected by 

(C) was ready to speak with the people affected by (Correct Answer)
 (D) The given sentence is correct 

Question No.23 Marks: 1.00
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Find the word which is correctly spelt from the given options.
 (A) Feable (Chosen option) 

 (B) Handicapped (Correct Answer)
 (C) Legislatare 

(D) Guidence 

Question No.24 Marks: 1.00
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Choose the word which expresses nearly the opposite meaning of the given word "
NOTORIOUS ".

 (A) Blatant 
(B) Popular (Chosen option) 

 (C) Shameful 
(D) Unknown (Correct Answer)

 

Question No.25 Marks: 1.00
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Find the word which is correctly spelt from the given options.
(A) Lifegard 
(B) Headquaters (Chosen option) 

 (C) Flourish (Correct Answer)
 (D) Inclution 
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Question No.1 Marks: 1.00
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'�ମର' - ଶ�ର ସମାଥ�େବାଧକ ଶ� କ'ଣ ?
 

(A) ଅଳ ି(Correct Answer)
 

(B) ବପ ୁ

(C) କୁଳଶି 

(D) ପବ ି

Question No.2 Marks: 1.00
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�ରତ�ୀ କ�ତି େହେଲ େକଉଁ �ନ ିଉ�ାରତି େହାଇଥାଏ?
 

(A) ଅେଘାଷ 

(B) ମହା�ାଣ 

(C) ଅ��ାଣ 

(D) ସେଘାଷ (Correct Answer)
 

Question No.3 Marks: 1.00
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ପିଲାଟ ିେଭାେଭା କା�ୁଛ ି। େରଖା�ିତ ପଦଟ ିେକଉଁ ଅବ�ୟ ?
 

(A) ଶ�ାନୁକାରୀ ଅବ�ୟ (Correct Answer)
 

(B) ଆନୁ�ମକି ଅବ�ୟ (Chosen option) 
 

(C) ଭାବବାଚକ ଅବ�ୟ 

(D) େହତୁେବାଧକ ଅବ�ୟ 

Question No.4 Marks: 1.00
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'��ା'ର �ୀଲି� କ'ଣ ? 
(A) ��ାପ�ୀ 
(B) �େ�ା�ୀ 
(C) ��ାଣୀ (Correct Answer) (Chosen option) 

 
(D) �ା�ଣୀ 

Question No.5 Marks: 1.00
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�ିୟା ବେିଶଷଣେର େକଉଁ ବଭି�ି ହୁଏ ?
 

(A)
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ଚତୁଥ�ୀ (Chosen option) 

(B) ସ�ମୀ 
(C) ତୃତୀୟା (Correct Answer)

 
(D) ପ�ମୀ 

Question No.6 Marks: 1.00
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‘ମହା� ’ ଶ�ର �ୀଲି� ବାଚକ ଶ�ଟ ିବାଛ ।
 

(A) ମହାନୀ 
(B) ମହୟିସୀ (Chosen option) 

 
(C) ମହତୀ (Correct Answer)

 
(D) ମହତନିୀ 

Question No.7 Marks: 1.00
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'ପବନ'- ଶ�ର ସମାଥ�େବାଧକ ଶ�ଟ ିକ'ଣ ?
 

(A) ତପନ 

(B) ଅଟବୀ 
(C) କଳାକର 

(D) ମାରୁତ (Correct Answer) (Chosen option) 
 

Question No.8 Marks: 1.00
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'େଲାଭୀ' - ଶ�ର ବପିରତି ଶ� କ'ଣ ?
 

(A) େଲାଭଯୁ� 

(B) େଲାଭନୀୟ 

(C) ନେିଲ�ାଭ (Correct Answer) (Chosen option) 
 

(D) ନେିଲ�ାଭୀ 

Question No.9 Marks: 1.00
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�� େଯାଗେର େକଉଁ ବଭି�ି ହୁଏ ?
 

(A) ପ�ମୀ 
(B) ତୃତୀୟା 
(C) �ଥମା 
(D) �ତିୀୟା (Correct Answer) (Chosen option) 

 

Question No.10 Marks: 1.00
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େମାେତ ଆଇଷଁ ରୁେଚ । େରଖା�ିତ ପଦର ବଭି�ି ନ�ି�ୟ କର ।
 

(A) �ତିୀୟା 
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(B) �ଥମା (Chosen option) 

(C) ତୃତୀୟା 
(D) ଚତୁଥ�ୀ (Correct Answer)

 

Question No.11 Marks: 1.00
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� , � , � , � , � – ଏଗୁଡ଼କି କ ି�କାର ବ��?
 

(A) କ�� ବ�� 
(B) ଦ�� ବ�� (Correct Answer) (Chosen option) 

 
(C) ଓ�� ବ�� 
(D) ତାଲବ� ବ�� 

Question No.12 Marks: 1.00
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‘ଅଧଃ’ ଶ�ର ବପିରୀତାଥ�କ ଶ�ଟ ିକଣ?
 

(A) ଊ�� (Correct Answer) (Chosen option) 
 

(B) ଅଧା 
(C) ନମି� 
(D) ଉ� 

Question No.13 Marks: 1.00
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ଏ, ଐ – କ ି�କାର ବ��?
 

(A) ଅନୁନାସକି 

(B) କ�ତାଲବ� (Correct Answer) (Chosen option) 
 

(C) ଦେ�ା�� 
(D) କେ�ୗ�� 

Question No.14 Marks: 1.00
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‘ସ�ୂଧାର’ ଶ�ଟ ିକ ି�କାର ଶ�?
 

(A) ତ�ତି (Chosen option) 
 

(B) ସନ� 

(C) ଯଙ� 

(D) କୃଦ� (Correct Answer)
 

Question No.15 Marks: 1.00
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ସଦୁଶ�ନ ଆଚାଯ�� ମ�ଯୁଗୀୟ କାବ�ସାହତି�େର �ବୀଣ ଅଟ� ି। େରଖା�ିତ ପଦଟରି କାରକ ନ�ି�ୟ କର ।
 

(A) ବଷିୟା�କରଣ (Correct Answer)
 

(B) କାଳା�କରଣ (Chosen option) 
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(C) �ାନା�କରଣ 

(D) ଭାବା�କରଣ 

Question No.16 Marks: 1.00
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� ିଅଥ� ଅଛ ିଯହ�େର – ଏକ ପଦେର �କାଶ କର ।
 

(A) ସାଥ�କ 

(B) ନରିଥ�କ 

(C) �ରିଥ�କ 

(D) ��ଥ�କ (Correct Answer) (Chosen option) 
 

Question No.17 Marks: 1.00
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'ଲୁ�' ଶ�ର ବେିଶଷ�- ରୂପଟ ିକଣ?
 

(A) �ଲୁ� 

(B) ଲାଭ 

(C) େଲାଭ (Correct Answer) (Chosen option) 
 

(D) ଲ� 

Question No.18 Marks: 1.00
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ଯାହା େହବାର �ଲା, ତାହା ହ� େହଲା । େରଖା�ିତ ପଦଟ ିକ ି�କାର ସବ�ନାମ ?
 

(A) ନେି��ଶା�କ ସବ�ନାମ 

(B) ସମ��ବାଚକ ସବ�ନାମ (Correct Answer)
 

(C) ନ�ି�ାୟକ ସବ�ନାମ (Chosen option) 
 

(D) �ଶ�ବାଚକ ସବ�ନାମ 

Question No.19 Marks: 1.00
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�ଦ� ଶ� ମ�ରୁ େକଉଁ ଶ�ଟ ିଠକି - ଚ�ିାଇ ଦଅି ?
 

(A) ଅ�ାଂଶ (Correct Answer) (Chosen option) 
 

(B) ଅଖ�ାଂଶ 

(C) ଅ�ାଂସ 

(D) ଅଖ�ାଂସ 

Question No.20 Marks: 1.00
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େସପର ିପିଲା - େରଖା�ିତ ପଦଟ ିେକଉଁ �କାର ବେିଶଷଣ ?
 

(A) ବେିଶଷ�ର ବେିଶଷଣ 

(B) ପରମିାଣବାଚକ ବେିଶଷଣ 

(C) �ିୟା ବେିଶଷଣ 
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(D) ସବ�ନାମ ବେିଶଷଣ (Correct Answer) (Chosen option) 

Question No.21 Marks: 1.00
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'ଅକସ କରବିା'- ରୂଢ଼ଟିରି େକଉଁ ଅଥ� ଠକି ?
 

(A) ବଚିାର କରବିା 
(B) ଅକଲ ଶେିଖଇବା 
(C) ବୁ�ହିୀନ େହବା 
(D) �ତହିଂିସା ମେନାଭାବ େପାଷଣ (Correct Answer) (Chosen option) 

 

Question No.22 Marks: 1.00
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‘େଦବୀ’ ଓ ‘ଅ��ନା’ ଶ�ର ସଂ�କେଲ କଣ େହବ?
 

(A) େଦବ���ନା (Correct Answer)
 

(B) େଦବ�ି�ନା 
(C) େଦବୀ��ନା 
(D) େଦବ�ା��ନା (Chosen option) 

 

Question No.23 Marks: 1.00
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ଠକି ଶ�ଟ ିଚ�ିାଇ ଦଅି ।
 

(A) ସପରବିାେର 

(B) ସପରିବାର (Correct Answer) (Chosen option) 
 

(C) ସପରବିାରେର 

(D) ସହପରବିାର 

Question No.24 Marks: 1.00
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‘ପିତୃ’ ଏବଂ ‘ଆେଦଶ’ ଶ� �ୟ ସଂ� କେଲ କଣ େହବ?
 

(A) ପିତୃେଦଶ 

(B) ପି�ାେଦଶ (Correct Answer) (Chosen option) 
 

(C) ପି��ାେଦଶ 

(D) ପି�େଦଶ 

Question No.25 Marks: 1.00
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‘ଗାୟକ’ ଶ�ର ସଂ�ବେି�ଦ କର ।
 

(A) େଗା+ଅକ 

(B) ଗାୟ+କ 

(C) େଗୖ+ଅକ (Correct Answer) (Chosen option) 
 

(D) ଗୀ+ଅକ 
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General Studies - General Studies

Question No.1 Marks: 1.00
Bookmark     

Find the next number in the series.
 2176, 2101, 1851, 1426, 826, ? 

 (A) 49 
(B) 47 
(C) 51 (Correct Answer)

 (D) 45 (Chosen option) 
 

Question No.2 Marks: 1.00
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Who appoints the Chairman and members of the State Human Rights Commission in
India?

 (A) President of India 
(B) Prime Minister of India 
(C) Governor of the State (Correct Answer) (Chosen option) 

 (D) Chief Minister of the state 

Question No.3 Marks: 1.00
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The average weight of P, Q and R is 54 kilograms . If the average weight of P and Q is
48 kilograms and that of Q and R is 49 kilograms, what is the weight of Q? (In Kg)

 (A) 30 
(B) 32 (Correct Answer)

 (C) 26 
(D) 28 

Question No.4 Marks: 1.00
Bookmark     

Find the next number in the series.
 135, 236, 373, 552, 779, ?

 (A) 1060 (Correct Answer)
 (B) 1070 

(C) 1080 
(D) 1090 

Question No.5 Marks: 1.00
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Find the highest length which can be used to exactly measure the lengths 48 m, 72 m,
96 m and 120 m. (In m)

 (A) 24 (Correct Answer) (Chosen option) 
 (B) 25 

(C) 26 
(D) 27 

Question No.6 Marks: 1.00
Bookmark     

Which of the following was the International treaty signed in 1987 to control the use of
CFCs in order to protect the environment from the deleterious effects of ozone
depletion?
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(A) Montreal Protocol (Correct Answer) (Chosen option) 
(B) Lima Protocol 
(C) Doha Protocol 
(D) Bali Protocol 

Question No.7 Marks: 1.00
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The concept of "Fundamental Duties" in the Indian Constitution is borrowed from:
 (A) USSR Constitution (Correct Answer) (Chosen option) 

 (B) French Constitution 
(C) German Constitution 
(D) American Constitution 

Question No.8 Marks: 1.00
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In this question, a statement is given followed by two conclusions numbered i and
ii. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.

 Statement: Kamal can financially support his family well.
 Conclusion:

 i) Kamal is rich.
 ii) Kamal is affectionate toward his family.

 
Choose the appropriate one from the following options

 (A) Only conclusion i follows
 (B) Only conclusion ii follows
 (C) Either i or ii follows

 (D) Neither i nor ii follows
 (E) Both i and ii follow.

 (A) D (Correct Answer)
 (B) A 

(C) B 
(D) C (Chosen option) 

 

Question No.9 Marks: 1.00
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Pipe A can fill a tank in 735 minutes and Pipe B can fill the same tank in 1470 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?

 (A) 470 
(B) 510 
(C) 490 (Correct Answer) (Chosen option) 

 (D) 530 

Question No.10 Marks: 1.00
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Read the given details carefully and answer the question given below
 

A+B means A is the sister of B
 A-B means A is the brother of B
 A*B means A is the father of B

 A/B means A is the mother of B
 

In the relation P*Q+R+S/T, how is S related to Q?
 (A) Brother 
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(B) Father 
(C) Sister (Correct Answer) (Chosen option) 

 (D) Mother 

Question No.11 Marks: 1.00
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Lingaraja Temple in Bhubaneswar is a Hindu temple dedicated to:
 (A) Lord Vishnu 

(B) Lord Brahma 
(C) Lord Sun 
(D) Lord Shiva (Correct Answer) (Chosen option) 

 

Question No.12 Marks: 1.00
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Find the number of factors in 44100.
 (A) 85 

(B) 87 
(C) 83 
(D) 81 (Correct Answer)

 

Question No.13 Marks: 1.00
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Who classified Human Rights as first, second, and third generation?
 (A) Bernard Shaw 

(B) Karel Vasak (Correct Answer)
 (C) Lialenin 

(D) Roosevelt 

Question No.14 Marks: 1.00
Bookmark     

A man walked 13km North, then 12km towards East and took a right turn and walked
13km, then turned right and walked 12km. Finally, he walked 15km towards South. How
far and in what direction is the starting point from the ending point? 

 (A) 7km, North 
(B) 7km, South 
(C) 15km, North (Correct Answer) (Chosen option) 

 (D) 15km, East 

Question No.15 Marks: 1.00
Bookmark     

What is 30% of 40% of 150% of 200% of 360?
 (A) 1.296 

(B) 129.6 (Correct Answer) (Chosen option) 
(C) 1296 
(D) 12.96 

Question No.16 Marks: 1.00
Bookmark     

In India, which of the following Micro-nutrients is measured in Soil Health Card Scheme?
(A) Nitrogen (Chosen option) 

 (B) Potassium 
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(C) Phosphorus 
(D) Copper (Correct Answer)

 

Question No.17 Marks: 1.00
Bookmark     

In what ratio must a grocer mix two varieties of pulses costing Rs.63 and Rs.84 per
kilograms respectively so as to get a mixture worth Rs.72.5 per kilograms?

 (A) 21:17 
(B) 19:23 
(C) 17:21 
(D) 23:19 (Correct Answer) (Chosen option) 

 

Question No.18 Marks: 1.00
Bookmark     

Where did the Champaran Satyagraha take place?
 (A) Madhya Pradesh 

(B) Assam 
(C) Bihar (Correct Answer) (Chosen option) 

 (D) West Bengal 

Question No.19 Marks: 1.00
Bookmark     

Which Kind of Unemployment is prevalent in Agriculture sector?
 (A) Seasonal Unemployment (Correct Answer) (Chosen option) 

 (B) Structural Unemployment 
(C) Technological Unemployment 
(D) Frictional Unemployment 

Question No.20 Marks: 1.00
Bookmark     

Which of the following countries has built an 'artificial Moon' research facility that is
capable of simulating low-gravity conditions using magnetism?
(A) Russia 
(B) China (Correct Answer) (Chosen option) 

 (C) United States of America 
(D) United Kingdom 

Question No.21 Marks: 1.00
Bookmark     

If a man covers the first half of the journey at 290 kmph and the second half of the
journey at 435 kmph, find the average speed of the total journey.(in kmph)

 (A) 350 
(B) 352 
(C) 348 (Correct Answer)

 (D) 346 

Question No.22 Marks: 1.00
Bookmark     

Which Article of the Indian Constitution contains the 'Fundamental Duties' of Indian
Citizens?

 (A) Article 39 
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(B) Article 51A (Correct Answer) (Chosen option) 
(C) Article 43 
(D) Article 41 

Question No.23 Marks: 1.00
Bookmark     

As per census 2011, the female literacy rate is the highest in which Indian state?
 (A) Tamil Nadu 

(B) Mizoram 
(C) Kerala (Correct Answer) (Chosen option) 

 (D) Maharashtra 

Question No.24 Marks: 1.00
Bookmark     

Which of the following Protected Areas is famous for salt water crocodile in Odisha?
 (A) Simlipal National Park 

(B) Bhitarkanika National Park (Correct Answer) (Chosen option) 
 (C) Satkosia Gorge Wildlife Sanctuary 

(D) Sunabeda Wildlife Sanctuary 

Question No.25 Marks: 1.00
Bookmark     

What value should come in the place of question mark (?) in the following question?
 (12×12)3÷(144×12)3×(20736)2 = 12?

(A) 7 
(B) 5 (Correct Answer)

 (C) 9 
(D) 3 (Chosen option) 

 

Question No.26 Marks: 1.00
Bookmark     

Fundamental duties are applicable only to ____________.
 (A) Enemy Aliens 

(B) Citizens of India (Correct Answer) (Chosen option) 
 (C) Diplomats of Foreign countries 

(D) Foreign citizens 

Question No.27 Marks: 1.00
Bookmark     

When is the World Ozone Day celebrated annually?
 (A) 22nd April 

(B) 16th September (Correct Answer)
 (C) 5th June (Chosen option) 

 (D) 2nd February 

Question No.28 Marks: 1.00
Bookmark     

Who among the following was the first elected woman legislator of Orissa from Cuttack
constituency?

 (A) Sarala Devi (Correct Answer)
 (B) Malati Devi (Chosen option) 
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 (C) Kuntala Kumari 
(D) Rama Devi 

Question No.29 Marks: 1.00
Bookmark     

If 5/6 of a number is 635, find 9/20 of the same number.
 (A) 338.9 

(B) 342.9 (Correct Answer) (Chosen option) 
(C) 344.9 
(D) 340.9 

Question No.30 Marks: 1.00
Bookmark     

A shopkeeper bought 190 kg of rice at the rate of Rs.120 pre kg. He sold 70% of the
total quantity at the rate of Rs.150 per kg. At what price per kg should he sell the
remaining quantity to make 55% overall profit? (In Rs.)

 (A) 285 
(B) 275 
(C) 280 
(D) 270 (Correct Answer)

 

Question No.31 Marks: 1.00
Bookmark     

Who founded the Suryavamsi dynasty in 1435 A.D.?
 (A) Kapilendradeva (Correct Answer) (Chosen option) 

 (B) Prataprudradeva 
(C) Mukundadeva 
(D) Purusottamdeva 

Question No.32 Marks: 1.00
Bookmark     

Which of the following is the smallest Union Territory of India in terms of total area?
 (A) Andaman and Nicobar Islands 

(B) Puducherry 
(C) Delhi 
(D) Lakshadweep (Correct Answer) (Chosen option) 

 

Question No.33 Marks: 1.00
Bookmark     

Between which two countries does the Palk Strait lie?
 (A) India and Sri Lanka (Correct Answer)

 (B) India and Pakistan 
(C) India and Bhutan 
(D) India and Myanmar (Chosen option) 

 

Question No.34 Marks: 1.00
Bookmark     

A box containing the denominations of twenty five paise coins, fifty paise coins and one
rupee coins amount to Rs.420. There are equal number of coins in all denominations.
What is the total number of one rupee coins in the box?

 (A) 690 (Chosen option) 
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(B) 260 
(C) 230 
(D) 240 (Correct Answer)

 

Question No.35 Marks: 1.00
Bookmark     

During the period of which war did Mahatma Gandhi initiate Quit India movement?
 (A) Second Boer War 

(B) Second World War (Correct Answer) (Chosen option) 
 (C) First Anglo-Afghan War 

(D) First World War 

Question No.36 Marks: 1.00
Bookmark     

In a certain code language, if SOUL is coded as HLFO, then how is RICH coded in that
language?

 (A) TLEK 
(B) IRXS (Correct Answer) (Chosen option) 

 (C) ULFK 
(D) TKEJ 

Question No.37 Marks: 1.00
Bookmark     

In which of the following places in Odisha, the people will take holy dip and offer prayers
to the Sun God on the occasion of Magha Saptami?

 (A) Beleswar Beach 
(B) Chandrabhaga Beach (Correct Answer) (Chosen option) 

 (C) Dagara beach 
(D) Chandipur Beach 

Question No.38 Marks: 1.00
Bookmark     

Who built the Red Fort in Delhi?
 (A) Shah Jahan (Correct Answer)

 (B) Aurangzeb (Chosen option) 
 (C) Shams-ud-din Iltutmish 

(D) Bahadur Shah Zafar 

Question No.39 Marks: 1.00
Bookmark     

Which of the following writs in the Indian Constitution literally means "by what authority"?
 (A) Habeas Corpus 

(B) Certiorari 
(C) Mandamus 
(D) Quo Warranto (Correct Answer) (Chosen option) 

 

Question No.40 Marks: 1.00
Bookmark     

What is the minimum age for becoming a candidate for Vidhan Sabha (Legislative
Assembly) election in India?

 (A) 25 Years (Correct Answer) (Chosen option) 
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(B) 35 Years 
(C) 40 Years 
(D) 30 Years 

Question No.41 Marks: 1.00
Bookmark     

Who appoints the Comptroller and Auditor-General of India?
 (A) President of India (Correct Answer) (Chosen option) 

 (B) Prime Minister of India 
(C) Chief Justice of India 
(D) Minister of Home Affairs 

Question No.42 Marks: 1.00
Bookmark     

'Shifting cultivation' is also known as ___________ in Odisha. 
 (A) Jhum (Chosen option) 

 (B) Penda 
(C) Kumari 
(D) Podu (Correct Answer)

 

Question No.43 Marks: 1.00
Bookmark     

What is the rank of India in International IP Index 2022?
 (A) 43 (Correct Answer) (Chosen option) 

 (B) 34 
(C) 51 
(D) 38 

Question No.44 Marks: 1.00
Bookmark     

A man facing in South direction turns 45 degrees clockwise, then turns 90 degrees anti-
clockwise and then turns 90 degrees in clockwise direction. Which direction is he facing
now?

 (A) South-West (Correct Answer) (Chosen option) 
 (B) South-East 

(C) North-East 
(D) North 

Question No.45 Marks: 1.00
Bookmark     

In which state, the 'Shipki La' pass is located?
 (A) Himachal Pradesh (Correct Answer)
 (B) Arunachal Pradesh (Chosen option) 

 (C) Sikkim 
(D) Uttarakhand 

Question No.46 Marks: 1.00
Bookmark     

The Tropic of Cancer does not pass through which of the following states of India?
 (A) Mizoram 

(B) Odisha (Correct Answer) (Chosen option) 

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



 
(C) Jharkhand 
(D) Tripura 

Question No.47 Marks: 1.00
Bookmark     

After the death of Tipu Sultan, British handed over the Mysore Kingdom to the rulers of
which dynasty?

 (A) Hoysalas 
(B) Chalukyas 
(C) Wodeyars (Correct Answer)

 (D) Cholas 

Question No.48 Marks: 1.00
Bookmark     

Find the next term in the given series.
 V39, R32, N25, J18, ?

 (A) E11 
(B) G10 
(C) F11 (Correct Answer) (Chosen option) 

 (D) E10 

Question No.49 Marks: 1.00
Bookmark     

A train started from station A and proceeded towards station B at a speed of 200 kmph.
45 minutes later, another train started from station B and proceeded towards station A at
35 kmph. If the distance between the two stations is 855 kms, at what distance from
station A will the trains meet? (In km)

 (A) 750 (Correct Answer)
 (B) 770 

(C) 810 
(D) 790 

Question No.50 Marks: 1.00
Bookmark     

Union Minister of State for Health and Family Welfare, Bharati Pravin Pawar has
inaugurated India’s first Biosafety level-3 containment mobile laboratory in:

 (A) Chennai, Tamil Nadu 
(B) Nashik, Maharashtra (Correct Answer) (Chosen option) 

 (C) Hyderabad, Telangana 
(D) Bengaluru, Karnataka 
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